Division of Rupees and paise J

A. Choose the correct answer:

1. X10 divided equally among 2 people gives
a. X2 b. X4
c.X5 d. X6

2. %60 divided among 4 children gives each
a.X10 b. 12
c.X15 d. %20

3. X1 =100 paise. If 100 paise is divided among 4 friends, each gets
a. 20 paise b. 25 paise
c. 30 paise d. 40 paise

4. X5.00 divided by 5 equals
a.X0.50 b. X1.00
c.X2.00 d.X1.25

5. X12.60 divided among 3 friends gives each
a.X4.20 b. X3.20
c.X5.20 d.X4.10

B. Write the Missing Terms to Complete the Sentences:

1.X20+4 =

2. 200 paise +2 = paise
3.X1.80+3 = B
4.X7.50+5= Y
5.X10+2= ?

C. Mark each sentence with a True (&) or False (X):
1.X39+3=%3
2. 60 paise + 2 = 30 paise
3.%2.10+ 3 =%0.70
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4.%1.50+2=%0.60
5.X5+0=%5

. Figure out the answers to these questions:

1. Divide %6 equally among 3 children. How much does each get.
2. X2.40 is shared among 4 friends. How many paise does each get.
3. If you divide X15.60 equally among 3 children, how much does each get.

4. A chocolate box costs X36. If 6 children share the cost, how much does each
pay.

. Challenge yourself with these questions:

1. Divide X9.60 among 4 children equally.

2. If you divide X24 among 6 friends, how much will each one get.

3. A chocolate costs X18. If 3 students share the price, how much does each pay.
4. Write two daily life situations where you divide money equally.

5. %12.60 is to be shared among 3 friends. Find the amount each gets in rupees
and paise.



